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24 111 159 6.6 1.8 NNE[ 41 ssw| 50 ESE] 00 00 00 102 24 100 159 46 10 NE[ 35 ENE|l 5.1 El 00 00 o00 100
25 130, 169 93 1.0 ESE[ 36 W 4.6 w 00 00 00 42 25 124 174 79 10 sw 29 NE[ 60 sw 00 00 o00 38
26 134 157 120 1.8 ESE 6.9 N 100 N 275 9.0 20 00 26 139 165 124 09 ENE[ 2.8 NNE| 85 ENE| 25.00 105 25 00
27 119 1400 95 35 E[ 7.9 ESE 104 N 50 30 10 24 27 121 1500 91| 26 ENE[ 51 ENE] 7.7 N 75 35 10 34
28 102 139 67 1.9 NNE 47 N 68 NNE| 75 35 1.0 104 28 98 139 69 1.3 s 4.1 s| 54 ssw 8o 40 10 99
RIEEl| 97 1420 56 20 NNE 0.0 39.4 BIEAE]| 87 142 38 11| SSW 0.0 387
®EHE 118 145 94 24 N 40.0 12.8 #®Eq 119 151 95 1.6 ENE 40.5 133
A 105 144 70 22 NNE 40.0 52.2 a 99 146 60 1.3 SSW 405 520,
:Fiff/ +50] +56 +50 205 135 qut%/ +46| +58 +46 211 144
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EIH BRI
SRR Lty 0CUERERE | 78 A e 10CLLERESER | 78
Bt =im(°C) R - EL R (m/s) & 7K 2 (mm) BB oy SUR(°C) M - L (m/s) [ 7K 2 (mm) BHEE
T | Be | RIE | T8 | &% &KX | BE | B | RE | B [186# | 105 | G Ty | BE | RIE | T8 | &% (&KX | &6 | BEE | &@E | B3 (1858|105 | ()
21 57| 117 -03 14 SE| 3.3 W 58 w 00 00 00 97 21 6.2 111 1.2 18 NE[ 36 NNE[ 58 sw| 00 00 00 103
22 81 140 1.7 1.0 ESE 3.4 W 63 w00 00 00 47 22 87 153 30 16 NE[ 34 NNE| 54 s| 00 00 00 46
23 107 167 46 1.1 SE| 41 ESE[ 55 SE 00 00 00 94 23 113 1730 64 12 wsw| 32 sw 50 wsw| 00 00 00 100
24 119 195 51 10 ssw 33 Sel 470 SE| oo 00 00 98 24 12.3] 190 65 1.5 wsw| 38 NNE[ 54 w00 00 00 102
25 152 2100 98 2.1 s 8.8 sl 149 s 15 10 o5 23 25 1500 19.1] 106 1.7 wsw| 52 SSE[ 96 SSE| 05 05 05 27
26 1500 165 13.1] 1.6 N 40 Nl 58 NNE| 740 115 45 00 26 146 180 133 14 wl 32 NNE| 56 N 515 105 30 0.0
27 132 169 110 29/ sw 68 NE| 100 NNE[ 15 15 05 55 27 131 163 107 29 ESE| 59 NNE[ 10.1 N 20 15 1.0 54
28 1170 160 88 19 SE| 47 g 70 E[ 40 25 05 99 28 114 1570 84 17 wsw 43 SEl 72 sw| 50 25 05 104
Al 103 166 42 1.3 SSW 15 35.9 RmIAE| 107 164 55 1.6 WSW 0.5 37.8
%34 133 165 11.00 2.1 N 79.5 15.4 #34q( 130 16.7] 108 2.0 NNE 58.5 15.8
£ 114 165 67 16 SE 81.0 51.3 a) 116 165 75 1.7 WSW 590, 53.6
$ﬁ§/ +59] +7.0 +5.0 288 141 $ﬁ§/ +55 +7.2] +4.7 261 132
:|_
Eélﬂll’ﬁ 2 755 ) 10°CUL EFEE SR 78
B SUR(°C) ] - ELE(m/s) [ 7K 2 (mm) BB
T | BE | RE | TH |82 [BX| B | BE | &R | BE [1856E| 105 | )
21 6.5 109 23 14 N 34 N 6.2 N 00 o0 00 103
22 92 133 500 13 ENE| 37 NNE| 7.0 N 00 o0 00 59

23 124 16.8 8.2 13 NNE[ 4.1 NNE 7.0, NNE] 00 0.0 00 9.9
24 13.2 18.0 80 1.3 ESE 5.2 N 8.5) N 00 0.0f 00 103
25 149 18.1] 11.3] 14 ENE| 4.1 NNE 8.3 N 00 0.0 00 3.2
26 147 17.5 1241 1.7, E| 4.4 WNW 7.8 WNW| 29.5( 75 3.0 0.0
27 11.8 151 9.1 2.8 El 50 E| 10.0] Ej 75 45 1.5 2.9
28 105 14.8 72 1.9 E 45 SE| 6.8 Ej 70 35 1.0 103

Al 1120 154 70 1.3 NNE 0.0 39.6
#E4H 123 158 95 20 E 440 13.2
£ 117 156 79 1.6 E 44.0 52.8
wE=4 0 0 /) // //

ldg
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#HAIFT4 Bl £ZH R A =+8 A
[k = (mm) %7K = (mm) [k = (mm) [&7K = (mm) [E7K = (mm) [% 7K 2 (mm)
Bt s ey BAE BRI o [mep BRABERAO| o [pep BAEEAIO| o |map EAE BRI o |mey BEAEERO oo | BA B &A10
BEt [FEE T 7 om | BE[FEE | nm | BE [FEE TRy | e | BE |FEE T | om | B PEE T ) Sm | BEOFEE TR |
21 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
22 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
23 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
24 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
25 2.0 15 1.0 1.5 1.5 0.5 1.0 1.0 0.5 1.0 1.0 0.5 1.0 1.0 0.5 2.5 2.5 1.0
*"3;‘;” = 2.0 // 15 1.0 15 // 15 05 1.0 7 1.0 0.5 1.0 3 1.0 0.5 1.0 // 1.0 05 2.5 10 2.5 1.0
26 415 7.0 2.5 385 7.0 2.0 380, 6.5 15 30.0 5.0 15 29.0 4.0 1.0 290 4.5 1.0
27 1.0 1.0 0.5 0.5 0.5 0.5 3.0 2.5 1.0 15 15 0.5 1.0 1.0 0.5 2.0 15 05
28 7.0 2.0 1.0 3.0 15 0.5 8.0 2.5 1.0 3.0 15 0.5 3.0 15 0.5 35 2.0 05
*ﬁjj;r /& 49 5 //] 7.0 2.5 42.0 // 7.0 2.0 490, 544 6.5 15 345 193 5.0 15 33.0 // 4.0 1.0 34.5 245 4.5 1.0
&t 51.5 //] 435 //] 50.0 202 35.5 68 34.0 //] 37.0 90|
PN 415 7.0 2.5 38.5 7.0 2.0 380, 6.5 15 30.0 5.0 15 29.0 4.0 1.0 290 4.5 1.0
#£H 26 26 26 26 26 26 26 26 26 26 26 26 26 26 26 26 26 26
#AIFT 4 #MER HH T MNELW =2TE Eaim%E
[ 7K = (mm) (%7K 2 (mm) [ 7K = (mm) (%7K 2 (mm) [ 7K = (mm) (%7K 2 (mm)
B ft = |am EINEE-PND) = | @ &A1 &K10 2 | RN 1B 5z K10 = | A1 K10 2 | EINE PN =t | RN 1B K10
BEt |FEL[Tp 7| spg | BE [FEE Ty | ipg | BE | FEE TRy | e | BE [FEE TR | ey | BE |[FEE TR | e | B |FEE TR i
21 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
22 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
23 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
24 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
25 2.0 15 1.0 1.0 1.0 0.5 0.5 0.5 0.5 3.0 2.5 1.0 0.5 0.5 0.5 2.5 2.5 1.0
4:*.3;,; /5 2.0 // 15 1.0 1.0 6 1.0 0.5 0.5 4 0.5 0.5 3.0 // 2.5 1.0 0.5 // 0.5 0.5 2.5 // 2.5 1.0
26 315 4.0 15 29.0 4.0 1.0 335 40 15 370 6.5 2.0 40.0 6.0 2.5 66.0 9.5 3.0
27 1.0 1.0 0.5 0.5 0.5 0.5 3.0 2.0 0.5 15 15 0.5 2.5 2.0 1.0 2.0 1.5 0.5
28 4.0 2.5 0.5 3.0 15 0.5 5.0 2.0 0.5 2.0 2.0 0.5 4.0 2.0 0.5 5.0 2.5 0.5
*ﬁj;f /& 36.5 // 40 15 325 346 40 1.0 415 525 4.0 15 40.5 // 6.5 2.0 46.5 // 6.0 2.5 73.0 // 9.5 3.0
alEt 38.5) // 33.5 130 420 197 43.5) //) 470 //) 75.5 //
amk 315 4.0 15 29.0 4.0 1.0 335 40 15 37.0 6.5 20 40.0 6.0 2.5 66.0 95 3.0
#2H 26 26 26 26 26 26 26 26 26 26 26 26 26 26 26 26 26 26
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&R AT 4 =% =R ER N A JnEt =A HiE fF EPNC) AR =l [HBEHER Nz IR
EZ5] 1.5 4.6 3.8 3.4 3.6] 3.3] 5.9 38 5.7 5.0 5.3 6.5 48] 7.6 7.3]
EEE +2.3] +2.5) +2.5 +2.8} X X +1.7 +2.3] +2.1 +2.5 //| +2.1 X +2.24 X
== 18.4 21.1 214 185 18.2] 18.6] 20.0 19.4 213 20.0 19.3 210 19.2] 20.2) 16.9]
EEIE] 24 24 24 24 24 9 24 24 25 25 25 25 24 24 25
[URIE —9.9 -3.9 -54 -8.8 -7.4] -4.0] -4.4 -1.1 —4.1 -6.4 -4.2) -3.9 -5.3] -1.0 -1.5]
EEE] 7 21 21 7 21 7 7 7 4 7 7 7 21 7 7
T 5 5.9 9.8 9.2 7.9 8.9] 8.4] 1.1 9.3 10.9 10.3 9.9 11.5 10.6] 12.3 11.1]
=T EE +2.6 +2.8] +3.0 +3.0 X X +2.3 +2.9 +2.1 +2.8 //| +2.4 X +2.8) X
R=IETH -25 0.6 -0.4 -1.0 -1.3] 0.0] 1.6 -0.7 1.3 0.2 14 2.3 -0.2] 4.0 3.7]
RIEFEE +2.5 +2.3 +2.3 +2.7 X X +1.3 +2.2 +2.2 +2.6 //| +2.4 X +2.2 X
[FERE 29 59 46 48 42] 24] 87 47 81 62 75 84 38] 106 71]
SE50°C 2R B 31 14 1 6| 9 5] 1] 0 8 0 1 1 0 3] 0 0]
FE1g25°CLl E A 0 0 0 0 0] 0] 0 0 0 0 0 0 0] 0 0]
2= 0°C R it B 3 3 0 0 1 0] 0] 0 0 0 0 0 0 0] 0 0]
b= B=25°CLLERH 0 0 0 0 0] 0] 0 0 0 0 0 0 0] 0 0]
==30°CLL L B3 0 0 0 0 0] 0] 0 0 0 0 0 0 0] 0 0]
R=35°CLULERH 0 0 0 0 0] 0] 0 0 0 0 0 0 0] 0 0]
RIE0°Ck % B3 22, 15 18 20| 13] 14] 13 19 12) 16 13 10 12] 3 5]
®IE25°CLLEB 0 0 0 0 0] 0] 0 0 0 0 0 0 0] 0 0]
mEE; 747 86.2 90.1 79.4 69.9] 41.8] 100.2 111.3 126.3 124.6 127.8 84.0] 130.9 105.5]
E e 100] 92 90 81 X X 92 104 98 96 92 X 94 X
0.1 B 2R 5 B 2] 10] 7 5 8 4] 5] 6 4 5 5 5 2] 6, 2]
EZE]RES 1.6 1.7 1.1 1.6 2.1] 0.7] 1.1 15 1.3 1.9 2.9 1.6 1.4] 3.5 2.7]
=K AR 6.4 7.7 5.8 6.8 7.5] 4.6] 4.9 6.2 7.2 7.7 9.6 6.1 7.1] 12.4 8.1]
= KRR AR SSE WNW WNW, NW, NE| WSW, SW NNE NW| NNE] WNW, NW| W N WNW,
GEIE] 25 19 3 6 16 3 25 16 6 16 5 18 5 26 6,
[ K Bk ] JEL 2 14.0 13.5 10.6 13.7 13.9] 12.4] 10.4 15.5 134 14.0 14.9 13.1 12.1] 14.8 13.9]
: ‘ﬁka&r&m;‘zmrﬁ] SE WNW, S NNWj SW WSW, W Wi N N NW, Wi S NNE] WNW]
EEE] 25 19 25 6 9 3 19 18 6 3 6 19 22) 26 6,
g‘|§§ﬁlrﬁ1 NNE] NW, WNW WNW, NE] NE] NE| SSW, ESE| WNW, NW| NNE WNW] NNE] NNE]
10m/sLl E B % 0 0 0 0 0] 0] 0 0 0 0 0 0 0] 1 0]
15m/skl E B 0 0 0 0 0] 0] 0 0 0 0 0 0 0] 0 0]
20m/sLl E B #L 0 0 0 0 0] 0] 0 0 0 0 0 0 0] 0 0]
30m/sklE B # 0 0 0 0 0] 0] 0 0 0 0 0 0 0] 0 0]
CE} 109.5 76.0) 69.0 83.5 75.0] 50.5] 98.0 80.0) 815 1075 99.0 95.0] 132.0] 108.5] 59.0]
SELELE 94 106 98 84 X X 133 143 151 176 //] 198 X 167 X
=K B K= 35.5 31.5 28.0 26.5 39.0] 19.0] 51.0 32.5 22.5 42.0 335 24.5 103.0] 54.5 27.5]
GEE] 26 26 26 26 26 11 26 26 26 26 26 26 26 26 26
|n_‘%jc1 FrREFK=E 5.5 6.5 5.0 7.0 5.0] 6.0] 7.5 6.0 7.5 8.0 11.5 9.0 19.0] 7.5 9.0]
BEE B 26 14:52] 11 14:30] 11 14:54 11 14:18] 26 15:58) 11 14:20] 26 05:41 26 19:57]  1020:02] 26 19:38] 26 19:39] 26 20:24] 26 05:38] 26 19:19] 26 19:34
K =A107 FEEK=E 15 1.5 15 2.0 1.5] 1.5] 2.0 2.0 3.0 3.0 4.0 2.5 4.0] 3.0 2.0]
EENEES 11 13:54] 26 12:47] 26 0953 11 13:37] 26 15:16] 11 13:54] 11 14:18] 11 13:10] 10 19:14] 10 18:48[ 10 18:56] 26 19:45] 26 05:21 10 18:34 26 20:30)
=| 1mmLl E A% 17 10 3 12 7] 8] 10 g 7 3 9 g 5] 9 4]
10mmEl E B 3 2 2 2 2] 2] 3 3 4 4 4 4 2] 3 2]
30mmLl E H % 1 1 0 0 1] 0] 1 1 0 1 1 0 1] 1 0]
50mmLl_E A% 0 0 0 0 0] 0] 1 0 0 0 0 0 1] 1 0]
70mmLl E B 0 0 0 0 0] 0] 0 0 0 0 0 0 1] 0 0]
100mmLL_E B % 0 0 0 0 0] 0] 0 0 0 0 0 0 1] 0 0]




R AT 4 £08 PN = SNl
E23] 6.9 7.6 78 7.8
EEE +1.8 +2.5 +2.0 //|
=e 17.1 21.0 19.1 18.1
2 B 25 25 25 25
3—7‘L|;E§1E\ -2.2 -2.2 -0.6 -05
2 H 7 7 7 7
T 5 10.6) 12.0 116 1.3
R TEE +1.9 +2.§ +2.5 //|
R=IETH 3.3 3.9 45 45
RIEFEE +2.3 +2.8 +2.0) //|
[FERE 60 105 105 102
S H0°C K iwm B 3| 0 0 0 0
F1525°CLl E B %k 0 0 0 0
= 0°C A i H 3 0 0 0 0
Bl R=25°CLl E B 0 0 0 0
== 30°CLl E B 0 0 0 0
=&=35°CUL ERH 0 0 0 0
=IK0°C kK 5 B 2 5 4 3 1
={E25°CLL EB 0 0 0 0
MEE: 128.1 1319 1404 139.9
ST 99 100 99 77
0.1 AR B 3K 4 5 5 5
EZE)EEES 18 2.4 2.2 2.2
5= KRR 7.6 8.8 74 7.7
EoNER NG ENE| S| NW| Wi
GELE] 11 25 6 5
[ A Bk ] JEL 2R 12.6 14.9 12.6 12.4
: L‘%jtﬁl’aﬁﬂizlﬂrﬁ] ENE S NNW W
GELE] 11 25 6 5
(= 2 AR WNW, N NNE E
10m/siL E B %] 0 0 0 0
15m/sLl E B %k 0 0 0 0
20m/slE H 3k 0 0 0 0
30m/skLE B 0 0 0 0
R 100.0 1415 1215 111.0
SELELE 191 199 200) //|
R=KXBFKE 25.0 74.0 51.5 29.5
2 B 26 26 26 26
|n_‘%jc1 BERKE 10.5 11.5 10.5 7.5
FEENEE) 26 20:16 26 18:51 26 19:30 26 20:00
K A 107 FEEK=E 40 45 5.0 3.0
EENEE 10 20:27 26 18:40) 10 18:18 26 19:32]
=| 1mmbl E B % 8 10 9 9
10mmLLE B %4 4 4 4
30mmEL E H# 0 1 1 0
50mm Ll E B ] 0 1 1 0
70mmEl E B £ 0 1 0 0|
100mmEL _E B 3L 0 0 0 0
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